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Write the BASE and the EXPONENT of these powers:
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Exponent: 6 Exponent: g Exponent: 7
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3)Write the following in standard form

(6 x 10) + (7 x 102) +(9 x 108) + (4 x 100)

0022 £7700 4 400000 + 4
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4) Write the following numbers using powers of 10

530 281
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5) Simplify then evaluate
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show your work CS‘@I _ 5'2 X 61
N -

[3x5]?-72+3x8 =2
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Remember it is all
the top divided by

allthe bottom @—  (-2)* - (-2) x 10 - (8)? 1
+ 1
5 4
Exponents first
16 - (-2) x 10 -1 1
= + —
-5 4
Multiplication
16 - (-20) -1 1
= + -
4
-5
Add the numerators (but watch your signs)
16 +20 -1 1
= + Z
-5
35
— R
5 4
Reduce

_ 1
- _z‘_+4

Find Common Denominators and Add

28 , 1 »
4 4 |’|
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53+ [10 - 5]2

GR

2 25x (10-7)p + 90

-35x (-5) + (5-6)
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53+[1O'5]2 ””””” 25X(10-7)3+90
>rBE 35X (-5 + (5-6F
125+ 25 \)P;(?/ NS
150 /’/\] P\\/ 25X (3) +9
,,,,,, 2 35 (-5 + (1)
,,,, 32x 27 +1
865 -243x 25 + -1
6076 32x 27 +1
-243x 25 + -1
-0.14 864 + 1
-6075 + -1
865
-6076
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Page 87-89
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Complete the following revie
guestions:

lad, 13 ad, 23 bd,

3abc, 14, 24, 0 40
Ta, 17, 26, O
8abc, 18 bC, 27,

9, 19,

12, 20 ac,

If you finish this there is a simplifying worksheet that you can work on:

13
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